PROCUREMENT OF FOOD PACKS FOR COVID-19 PANDEMIC

Naga, Zamboanga Sibugay LGU

Supplier:	DEGRACI	A MILLING	& ENTERPRISES	P.O. No. :	
Address:		The second line is a second line in the second line is a second li	ga Sibugay	Date:	
			a, Zamboanga Sibugay		
Date of De	elivery :	APRIL 29	9, 2020		
It and Ma	Quantity	Unit	Description	Unit Cost	Amount
Item No.	Quantity 1,000	SACKS	RICE	1,160.00	1,160,000.00
1	1,000	Siterio	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX		
>					
			ONE MILLION ONE HUNDRED SIXTY THOUSAND		1,160,000.0
Total Amo	ount in Wo	ords:	PESOS ONLY		
	l= eeco of	f failure to	make the full delivery within the time specific	above, a penalty of	of
one tenth	(1/10) of (ne nercen	t for every day of delay shall be imposed.		
one-tentin	(1/10) 01 (one percen			
			Very truly yours,		
					/
				M	NEVEC .
					REYES
				Municipal May	yor
Conforme	:	A			
	DEGRAC	TA BICE N	IILLING & ENTERPRISES		
			ver printed Name)		
	(3	ignature of	Ci pilitou ituitoj		

Supplier:	er: DEGRACIA RICE MILLING AND ENTERPRISES P.O. No. :				
Address:	Diplahan	, Zamboan	ga Sibugay	Date :	
Gentlemen Date of De		LGU - Naga May 8,	a, Zamboanga Sibugay 2020		
Item No.	Quantity	Unit	Description	Unit Cost	Amount
1	2,000	SACKS	RICE XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	1,160.00	2,320,000.00
8					
Total Amo	ount in Wo	ords:	TWO MILLION THREE HUNDRED TWENTY THOUSAN	ND	2,320,000.00
		6 11	PESOS ONLY make the full delivery within the time specific	above, a penalty of	of .
one-tenth	(1/10) of o	ne percen	t for every day of delay shall be imposed.	duove, a person,	
			Very truly yours,	RINO O. DELOS R Municipal Mar	
Conforme	DEGRACIA		LLING AND ENTERPRISES and Printed Name)		

		v	200	Ç.	
Supplier:	NATIONA	L FOOD A	UTHORITY	P.O. No. :	
Address:	Data				
Gentlemen		LGU - Naga	, Zamboanga Sibugay		
Item No.	Quantity	Unit	Description	Unit Cost	Amount
1	150	SACKS	RICE XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	1,250.00	187,500.00
*			THE WANTE OF THE PARTY OF THE P		187,500.00
Total Amo	ount in Wo	rds:	ONE HUNDRED EIGHTY SEVEN FIVE HUNDRED PESOS ONLY		107,300.00
one-tenth	In case of (1/10) of o	failure to	make the full delivery within the time specific at for every day of delay shall be imposed.	above, a penalty o	f
			Very truly yours,	RINO O. DELOS R Municipal May	
Conforme	FOT;		AUTHORITY (NFA) rinted Name)		

Address: Taway, Ipil, Zamboanga Sibugay Gentlemen/Madam: LGU - Naga, Zamboanga Sibugay Date of Delivery : Item No. Quantity Unit Description Unit Cost Amount 1 1,000 SACKS RICE XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	Supplier:	NATION	AL FOOD	AUTHORITY	P.O. No. :	
Date of Delivery : Item No. Quantity Unit Description Unit Cost Amount		Taway, I	pil, Zamboa	Date :		
Total Amount in Words: ONE MILLION TWO HUNDRED FIFTY THOUSAND PESOS ONLY In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed. Very truly yours, RINO O. DELOR REYES Municipal Wayor Conforme:			LGU - Naga	, Zamboanga Sibugay		
Total Amount in Words: ONE MILLION TWO HUNDRED FIFTY THOUSAND PESOS ONLY In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed. Very truly yours, RINO O. DELOR REYES Municipal Wayor Conforme:	Item No	Quantity	Unit	Description	Unit Cost	Amount
In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed. Very truly yours, RINO O. DECOS REYES Municipal Mayor Conforme:				RICE		1,250,000.00
PESOS ONLY In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed. Very truly yours, RINO O. DECOS REYES Municipal Mayor Conforme:						
PESOS ONLY In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed. Very truly yours, RINO O. DECOS REYES Municipal Mayor Conforme:	Total Amo	unt in Wo	rds:	ONE MILIION TWO HUNDRED FIFTY THO	DUSAND	1,250,000.00
One-tenth (1/10) of one percent for every day of delay shall be imposed. Very truly yours, RINO O. DELOS REYES Municipal Wayor Conforme:	Total 71110					
RINO O. DELOS REYES Municipal Mayor Conforme:	one-tenth (f /
Conforme:				Very truly yo	ours ,	
for: had					/ // /	A STREET AND A STREET AND A STREET
(Signature over printed Name)	Conforme:					
Date			Date			

Naga, Zamboanga Sibugay LGU

Supplier:	NATIONAL FOOD AUTHORITY	P.O. No. :	
Address:	Ipil, Zamboanga Sibugay	Date :	

Gentlemen/Madam: LGU - Naga, Zamboanga Sibugay

Date of Delivery: May 15, 2020

Item No.	Quantity	Unit	Description	Unit Cost	Amount
1	300	SACKS	RICE	1,250.00	375,000.00
otal Amo	unt in Wo	rds:	THREE HUNDRED SEVENTY FIVE THOUSAND PESOS ONLY		375,000.0

In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

Very truly yours,

RINO O. DELOS Municipal Mayor

Conforme:

NATIONAL FOOD AUTHORITY

(Signature and Printed Name)

Naga, Zamboanga Sibugay LGU

Supplier:	CHAMPION COMMERCIAL	P.O. No. :	
Address:	Ipil, Zamboanga Sibugay	Date :	

Gentlemen/Madam: LGU - Naga, Zamboanga Sibugay

Date of Delivery :

Quantity	Unit	Description	Unit Cost	Amount
86	SACKS	RICE XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	3,1600.00	100,276.00
÷				
			86 SACKS RICE	86 SACKS RICE 1,146.00

In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

Very truly yours,

RINO O. DELOS REYES

Municipal Mayor

Conforme:

CHAMPION COMMERCIAL
Signature over printed Name)

Naga, Zamboanga Sibugay LGU

Supplier:	CHAMPION COMMERCIAL	P.O. No. :
Address:	Ipil, Zamboanga Sibugay	Date :

Gentlemen/Madam: LGU - Naga, Zamboanga Sibugay

Date of Delivery : APRIL 27, 2020

Item No.	Quantity	Unit	Description	Unit Cost	Amount
1	111	SACKS	RICE	1,166.00	129,426.00
	7				
ş					
Total Amo	ount in Wo	rds:	ONE HUNDRED TWENTY NINE THOUSAND FOUR HUNDRED TWENTY SIX PESOS ONLY	UNDRED	129,426.0

In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

Very truly yours,

Municipal Mayor

Conforme:	
-	C

CHAMPION COMMERCIAL (Signature over printed Name)

Naga, Zamboanga Sibugay LGU

Supplier:	IPIL SHOPPERS CHOICE	P.O. No. :
Address:	lpil, Zamboanga Sibugay	Date :
		Dute.

Gentlemen/Madam: LGU - Naga, Zamboanga Sibugay

Date of Delivery :

tem No. Quantit		Description	Unit Cost	Amount
1 200	CASES	SARDINES XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	1,876.00	Amount 375,346.00

In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

Very truly yours,

Municipal Mayor

Conforme:

IPIL SHOPPERS CHOICE (Signature over printed Name)

4/15/2020

Naga, Zamboanga Sibugay LGU

Supplier:	LA ENTERPRISES	P.O. No. :
Address:	Kabasalan, Zamboanga Sibugay	Date :

Gentlemen/Madam: LGU - Naga, Zamboanga Sibugay

Date of Delivery: MARCH 31, 2020

Item No.	Quantity	Unit	Description	Unit Cost	Amount	
1	1,769	BAGS	RICE 5KLS./BAGS	260.00	459,940.00	
2	50	BOXES	SARDINES	1,850.00	92,500.00	
			XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX			
					3	
			2			
					Z	
Total Amo	unt in Wo	rds:	FIVE HUNDRED FIFTY TWO THOUSAND FOUR		552,440.00	
	HUNDRED FORTY PESOS ONLY					

In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

Very truly yours,

RINO O. DELOS REYES

Municipal Mayor

Conforme:

L.A. ÉNTERPRISES
(Signature and Printed Name)

Naga, Zamboanga Sibugay LGU

Supplier:	ELFISHER TRADING	P.O. No. :	
Address:	Ipil, Zamboanga Sibugay	Date :	

Gentlemen/Madam: LGU - Naga, Zamboanga Sibugay

Date of Delivery: May 12, 2020

Item No.	Quantity	Unit	Description	Unit Cost	Amount
1	600	CASES	GOLDEN BEHON 227g	890.40	534,240.00
2	38	CASES	GOLDEN BEHON 454g	735.35	27,943.30
			XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX		
			42.0		
	E				
otal Amo	unt in Wor	ds:	FIVE HUNDRED SIXTY TWO THOUSAND ONE		562,183.3
			ONE HUNDRED EIGHTY THREE AND 30/100		

In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

Very truly yours,

RINO O. DELOS REYES

Municipal Mayor

Conforme:

Signature and Printed Name

Naga, Zamboanga Sibugay LGU

Supplier:	IPIL SHOPPER'S CHOICE	P.O. No. :
Address:	Ipil, Zamboanga Sibugay	Date :

Gentlemen/Madam: LGU - Naga, Zamboanga Sibugay

Date of Delivery: May

May 12, 2020

Item No.	Quantity	Unit	Description	Unit Cost	Amount
1	300	CASES	SARDINES	1,796.70	539,010.00
2	40	CASES	GOLDEN BEHON 227g	890.40	35,616.00
				1	
			· ·		
Total Amo	unt in Wo	rds:	FIVE HUNDRED SEVENTY FOUR THOUSAND	- topo	574,626.00
			SIX HUNDRED TWENTY SIX PESOS ONLY		

In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

Very truly yours,

RINO O. DELES REYES

Municipal Mayor

Conforme:

Signature and Printed Name)

Naga, Zamboanga Sibugay LGU

Supplier:	BARRAMEDA RICE AND CORN MILLING	P.O. No. :
Address:	Bayog, Zamboanga Sibugay	Date :

Gentlemen/Madam: LGU - Naga, Zamboanga Sibugay

Date of Delivery: MAY 25, 2020

Item No.	Quantity	Unit	Description	Unit Cost	Amount
1	1,000	SACKS	RICE XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	1,160.00	1,160,000.00
			TIFECALLON		
			I hereby pertily to the		
Total Amo	unt in Wor	ds:	ONE MILLION ONE HUNDRED SIXTY THOUSAND		1,160,000.00

In case of failure to make the full delivery within the time specific above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

Very truly yours,

RINO O. DELOS REYES

Municipal Mayor

Conforme:

BARRAMEDA RICE AND CORN MILLING
(Signature and Printed Name)

Naga, Zamboanga Sibugay LGU

Supplier:	LI MOB	ILE CATE	RING SERVICES	P.O. No. :	
Address:	Ipil, Zam	boanga S	ibugay	Date :	
Gentlemer Date of D		LGU - Nag MAY 25	ga, Zamboanga Sibugay 5, 2020		
Item No.	Quantity	Unit	Description	Unit Cost	Amount
			MEALS AND SNACKS XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX		194,124.3
otal Amount in Words: ONE HUNDRED NINETY FOUR THOUSAND ONE HUNDRED TWENTY FOUR AND 36/100				194,124.36	

Very truly yours,

RINO O. DEVOS REYES Municipal Mayor

Conforme:

U MOBILE CATERING SERVICES
(Signature and Printed Name)

Naga, Zamboanga Sibugay LGU

Supplier:	CAXY V	ARIETY ST	ORE	P.O. No. :	
Address:	Upper St	ulitan, Nag	a, Zamboanga Sibugay	Date :	
Gentlemen Date of De		LGU - Nag JUNE 22	a, Zamboanga Sibugay , 2020		
Item No.	Quantity	Unit	Description	Unit Cost	Amount
1	476	BOXES	SARDINES XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	1,796.00	854,896.00
	In case of	failure to	EIGHT HUNDRED FIFTY FOUR THOUSAND EIGHT HUNDRED NINETY SIX PESOS ONLY make the full delivery within the time specific a for every day of delay shall be imposed.	bove, a penalty of	854,896.00
			Very truly yours,	INO O. DELOS REY	
Conforme:	<u>C</u>	AXY VAR	mtoyer D. Simbabn ETY STORE Printed Name)	Municipal Mayor	

			LGU		
Supplier:	D'RIO N	VARKETING	3	P.O. No. :	
Address:	Titay, Z	Zamboanga	Sibugay	Date :	
Gentlemen Date of De		LGU - Nag APRIL 5	a, Zamboanga Sibugay , 2020		
Item No.	Quantity	Unit	Description	Unit Cost	Amount
1	136	SACKS	RICE XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	1,100.00	149,600.00
Tabl A					
Total Amo	unt in Wor	ds:	ONE HUNDRED FORTY NINE THOUSAND SIX		149,600.00
	In case of	failura ta	HUNDRED PESOS ONLY		
			make the full delivery within the time specific a for every day of delay shall be imposed.	above, a penalty of	/
		,	Very truly yours,	RINO O. DELOS RE	<u>YES</u>
				Municipal Mayor	r
C	,	1 -1		/	
Conforme:	2	1 mm/mm	mmo		
	D'R	IO MARKE	TING		
	(Signature				
		Date			